
ASSIGNMENT 

Q.1. Give the meaning of surplus labour and discuss the problem of 

disguised unemployment in labour surplus economies.  

Q.2. Discuss the process of transfer of surplus labour from the 

traditional to the modern sector according to W. A. Lewis’s model.  

Q.3. Discuss the limitations of W. A. Lewis’s model pertaining to 

transfer of surplus labour from the traditional to the modern sectors.  

Q.4. Suggest some measures for improving labour productivity in the 

traditional and unorganized sectors in India. 


